
 

Question: 1 
   
What are two benefits of the Hitachi Command Suite? 
(Choose two.) 
Response: 
 
A. one license key for all Hitachi Command Suite software products 
B. automated microcode update management across all Hitachi storage systems 
C. integrated installer for core Hitachi Command Suite software 
D. agentless host discovery 
 

Answer: CD 
 

Question: 2 
   
After discovering a storage system with Hitachi Device Manager, which three categories are 
automatically displayed within the Volumes logical group? 
(Choose three.) 
Response: 
 
A. Mainframe - Unspecified 
B. Mainframe - Unallocated 
C. Open - Unallocated 
D. Mainframe - Allocated 
E. Open - Allocated 
 

Answer: ACE 
 

Question: 3 
   
A customer is using the Hitachi Command Suite (HCS) to manage their storage environment comprising 
VSPs, HUS and HNAS platforms connected to Linux and Windows servers. Several of the HUS systems, as 
well as competitors arrays are virtualized behind the VSPs. 
Which three functions does the HCS provide in this environment? 
(Choose three.) 
Response: 
 
A. single management tool for all Hitachi storage systems and virtualized storage environments 
B. common CLI 
C. integration of all third-party arrays in a global storage management framework 
D. server virtualization software 
E. common GUI 

Visit us athttps://www.examsboost.com/test/hqt-6740/

https://www.examsboost.com/test/hqt-6740/


 

 

Answer: ABE 
 

Question: 4 
   
Which feature allows the naming of LDEVs using Hitachi Device Manager CLI? 
Response: 
 
A. LDEV Tagging 
B. LDEV Naming 
C. LDEV Editing 
D. LDEV Labeling 
 

Answer: D 
 

Question: 5 
   
You want to create a Hitachi Dynamic Provisioning pool on a VSP using Hitachi Device Manager. Which 
two conditions apply? 
(Choose two.) 
Response: 
 
A. The maximum pool number cannot exceed 127. 
B. LDEVs must be selected. 
C. Parity groups must be selected. 
D. Drive types cannot be mixed. 
 

Answer: AC 
 

Question: 6 
   
You want to restart the Hitachi Command Suite (HCS) services running on a Windows server. Which tool 
would you use? 
Response: 
 
A. Windows Task Manager 
B. CLI command "hcmdssrv" 
C. Windows Services panel 
D. HCS GUI 
 

Answer: B 
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Question: 7 
   
A storage manager needs to add a new server to the Hitachi Device Manager (HDvM) database. As an 
alternative to running a host scan, which two actions are available to discover and identify the new 
server? 
(Choose two.) 
Response: 
 
A. Run the Import Hosts utility. 
B. Execute the AddNewHost CLI command. 
C. Install HDvM Agent on the host. 
D. Use the Host Data Collector. 
 

Answer: CD 
 

Question: 8 
   
In which file format is Hitachi Device Manager data exported? 
Response: 
 
A. .pdf 
B. .csv 
C. .html 
D. .doc 
 

Answer: B 
 

Question: 9 
   
Which three storage operations are performed with Hitachi Device Manager? 
(Choose three.) 
Response: 
 
A. allocate volumes 
B. unallocate volumes 
C. compress volumes 
D. dedupe volumes 
E. create volume 
 

Answer: ABE 
 

Visit us athttps://www.examsboost.com/test/hqt-6740/

https://www.examsboost.com/test/hqt-6740/


 

Question: 10 
   
What is the maximum capacity of a LUSE volume on a VSP storage system? 
Response: 
 
A. 4 TB 
B. 60 TB 
C. 32 TB 
D. 36 TB 
 

Answer: B 
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